Technical Summary

M Wallmount Pro MBW1UP
400x600 Fixed Black

EAN: 7350073736935

M U LTI B R A CK E T S

n\
Q
Q
Q
Q
Q
°
S o 480 ?8.3
Q @1 S
- ]
S S o [ 2
Q Q S /8
: : § g
S S 8 8
S N 3 3
=K : @ @
[e] [e]
Sk S 81 [o00 000 |8
Q _lo o3y
=t N =B 3=}
%9 s = 1=l 120
N S = —
% = % — e e;l
= Q Ooo Ooo Q
: | |
U [§)
. [ [
: : | |
< = ﬂ Max 430 Q

COMPONENT CHECKLIST

M5X15 M6X15 M8X15 | (16X(6.2X1.5
]
X4 X4 X4 X4 X1
Al A2 A3 A4
M8 M8x12 @D16X8.2X1.5 | Lag bolt Anchor 5mm
X4 X4 X6 X2 x2 | X2 X1
B1 B2 B3 B4 B5 B6

AL | BB | | 600 Fixed arms






